## **Edge of Arlington Saw & Tool, Inc.**

124 South Collins Arlington, TX 76010

Phone:817-461-7171 • Fax: 817-795-6651

Toll Free: 888-461-7171 Email: <u>info@eoasaw.com</u> Website: www.eoasaw.com



Viking Drill & Tool Super Premium Left-Hand Spiral Jobber Length Drills Type 240-AL

Edge of Arlington offers free shipping in the United States when you choose flat rate shipping. -Special Hi-Molybdenum tool steel. -135° split point for fast penetration and accurate starting without center punch. -Precision ground point, flutes, body, clearance, and drill diameter for the ultimate in accuracy and performance. -Body and clearance are gold surface treated for maximum lubricity. -Ideal for removing broken studs.

Item #	Diameter	Flute	<b>Overall Length</b>	Manufacturer	<b>Unit Price</b>	Pack Quantity	Price
92430	1/16 in	7/8 in	1 7/8 in	Viking Drill & Tool	\$5.20	6	\$31.20
23150	5/64 in	1 in	2 in	Viking Drill & Tool	\$5.20	6	\$31.20
89290	3/32 in	1 1/4 in	2 1/4 in	Viking Drill & Tool	\$5.20	6	\$31.20

23160	7/64 in	1 1/2 in	2 5/8 in	Viking Drill & Tool	\$5.20	6	\$31.20
92440	1/8 in	1 5/8 in	2 3/4 in	Viking Drill & Tool	\$5.20	6	\$31.20
92441	9/64 in	1 3/4 in	2 7/8 in	Viking Drill & Tool	\$5.20	6	\$31.20
23170	5/32 in	2 in	3 1/8 in	Viking Drill & Tool	\$6.04	6	\$36.24
92442	11/64 in	2 1/8 in	3 1/4 in	Viking Drill & Tool	\$6.96	6	\$41.76
92450	3/16 in	2 5/16 in	3 1/2 in	Viking Drill & Tool	\$7.26	6	\$43.56
92443	13/64 in	2 7/16 in	3 5/8 in	Viking Drill & Tool	\$8.12	6	\$48.72
92444	7/32 in	2 1/2 in	3 3/4 in	Viking Drill & Tool	\$8.70	6	\$52.20
92451	15/64 in	2 5/8 in	3 7/8 in	Viking Drill & Tool	\$9.30	6	\$55.80
92460	1/4 in	2 3/4 in	4 in	Viking Drill & Tool	\$10.06	6	\$60.36
92452	17/64 in	2 7/8 in	4 1/8 in	Viking Drill & Tool	\$10.68	6	\$64.08
92453	9/32 in	2 15/16 in	4 1/4 in	Viking Drill & Tool	\$12.78	6	\$76.68
23180	19/64 in	3 1/16 in	4 3/8 in	Viking Drill & Tool	\$14.50	3	\$43.50
92470	5/16 in	3 3/16 in	4 1/2 in	Viking Drill & Tool	\$15.24	3	\$45.72
92471	21/64 in	3 5/16 in	4 5/8 in	Viking Drill & Tool	\$16.52	3	\$49.56
92472	11/32 in	3 7/16 in	4 3/4 in	Viking Drill & Tool	\$19.36	3	\$58.08
92473	23/64 in	3 1/2 in	4 7/8 in	Viking Drill & Tool	\$23.54	3	\$70.62
92480	3/8 in	3 5/8 in	5 in	Viking Drill & Tool	\$23.54	3	\$70.62
92481	25/64 in	3 3/4 in	5 1/8 in	Viking Drill & Tool	\$25.62	3	\$76.86
92482	13/32 in	3 7/8 in	5 1/4 in	Viking Drill & Tool	\$27.42	3	\$82.26
92483	27/64 in	3 15/16 in	5 3/8 in	Viking Drill & Tool	\$28.98	3	\$86.94
92490	7/16 in	4 1/16 in	5 1/2 in	Viking Drill & Tool	\$31.02	3	\$93.06
92491	29/64 in	4 3/16 in	5 5/8 in	Viking Drill & Tool	\$34.68	3	\$104.04
92492	15/32 in	4 5/16 in	5 3/4 in	Viking Drill & Tool	\$35.10	3	\$105.30

92500	1/2 in	4 1/2 in	6 in	Viking Drill & Tool \$39.44	3	<u> </u>	\$118.32
92493	31/64 in	4 3/8 in	5 7/8 in	Viking Drill & Tool \$38.64	3	\$	\$115.92